
Instruction Manual

FR: Guide de l’utilisateur - fr.startech.com
DE: Bedienungsanleitung - de.startech.com
ES: Guía del usuario - es.startech.com
NL: Gebruiksaanwijzing - nl.startech.com
PT: Guia do usuário - pt.startech.com
IT: Guida per l’uso - it.startech.com
JP: 取扱説明書 - jp.startech.com

Manual Revision: 02/22/2018
For the most up-to-date information, please visit: www.startech.com

ADJSHELF

Adjustable Depth Universal Fixed Rack Shelf

Package Contents
•	 1 x Slotted fixed shelf
•	 2 x Front mounting bracket (Short)
•	 2 x Rear mounting bracket (Long)
•	 8 x M5 screws
•	 8 x M5 cage nuts
•	 1 x Instruction manual
•	 8 x M5 Truss head screws
•	 8 x M5 Flanged lock nuts

Assembly
Use the assembly instructions below to install both the front and 
back mounting brackets.
1.	 Align the mounting bracket with the slot on the side of the slotted 

fixed shelf. Make sure that the end of the bracket is also aligned 
with the corner of the slotted fixed shelf and the rack mounting 
tab is facing out.

2.	 On the outside of the slotted fixed shelf, insert a M5 truss head 
screws (two per bracket) into the screw hole on the mounting 
bracket and through the slot on the slotted fixed shelf.

3.	 On the inside of the slotted fixed shelf, use a M5 flanged lock nut 
(two per mounting bracket) and screw it onto the end of the M5 
truss head screw.

Installation
Warning: Use caution and proper lifting techniques when lifting the 
slotted fixed shelf.
1.	 Insert the M5 cage nuts (two per mounting rail) into the square 

mounting holes on the mounting rails.
2.	 Align the rack mounting tabs on the front and rear mounting 

brackets with the M5 cage nuts on the corresponding mounting 
rail.

3.	 Insert a M5 screw (two per mounting rail) through the rack 
mounting tab and into the M5 cage nut. 

4.	 Tighten all the M5 screws.

Mount here

Adjusting the slotted fixed shelf
1.	 Loosen the M5 truss head screws on the front and rear mounting 

brackets.
2.	 Extend the front and rear mounting brackets to fit the depth of 

the rack/cabinet.
3.	 Tighten all the M5 truss head screws that were loosened in step 1.

Product diagram
Note: Actual product may vary from photos



Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols
This manual may make reference to trademarks, registered trademarks, and other protected names and/or symbols of third-party companies not related in any way to  
StarTech.com.  Where they occur these references are for illustrative purposes only and do not represent an endorsement of a product or service by StarTech.com, or an endorsement of the product(s) 
to which this manual applies by the third-party company in question.  Regardless of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby acknowledges that all 
trademarks, registered trademarks, service marks, and other protected names and/or symbols contained in this manual and related documents are the property of their respective holders.

Technical Support
StarTech.com’s lifetime technical support is an integral part of our commitment to provide industry-leading solutions.  If you ever need help with your product, visit www.startech.com/support and access 
our comprehensive selection of online tools, documentation, and downloads.  

For the latest drivers/software, please visit www.startech.com/downloads

Warranty Information
This product is backed by a lifetime guarantee. 
In addition, StarTech.com warrants its products against defects in materials and workmanship for the periods noted, following the initial date of purchase. During this period, the products may be returned 
for repair, or replacement with equivalent products at our discretion. The warranty covers parts and labor costs only. StarTech.com does not warrant its products from defects or damages arising from 
misuse, abuse, alteration, or normal wear and tear.

Limitation of Liability
In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their officers, directors, employees or agents) for any damages (whether direct or indirect, special, punitive, incidental, 
consequential, or otherwise), loss of profits, loss of business, or any pecuniary loss, arising out of or related to the use of the product exceed the actual price paid for the product.  Some states do not allow 
the exclusion or limitation of incidental or consequential damages. If such laws apply, the limitations or exclusions contained in this statement may not apply to you.

Adjustable Mounting Range
(A) 495 mm	 (B) 129 mm	 (C) 974 mm	 (D) 608 mm


